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ELECTIVE COURSE : ECONOMICS 

EEC-14 : AGRICULTURAL DEVELOPMENT IN INDIA 

Time : 3 hours 	 Maximum Marks : 100 

(Weightage 70%) 

Note : Attempt questions from each section as per 

instructions given under each section. 

SECTION A 

(Long-Answer Questions) 

Answer any two questions from this section. 	2x20=40 

1. Define agrarian reforms. What was the impact of 

agrarian reforms on the unequal and 
exploitative agrarian structure ? 

2. Critically evaluate the importance of allied 
activities in India's rural economy. Suggest 

measures for future development of the sector. 

3. Critically examine the implications of WTO 
recommendations on Indian agriculture. 
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4. What are the causes of low agricultural 
productivity in India ? Examine the role of 
technological improvements in promoting the 

agricultural productivity. 
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SECTION B 

(Medium-Answer Questions) 

Answer any four questions from this section. 	4x12=48 

5. What are the technical features of 'High Yielding 
Variety' (HYV) seeds ? Discuss the constraints 
on the spread of HYVs in India. 

6. What are the benefits of biotech research for 
agriculture ? Discuss the measures adopted by 
the government to promote the application of 
biotech in Indian agriculture. 

7. Define the concept of and explain the measures 
for raising cropping intensity. 

8. Do you think that the agricultural income should 
be taxed in India ? Why ? 

9. Explain the functions of 'Agricultural Prices 
Commission'. Under what circumstances was it 
set up ? 
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SECTION C 

(Short-Answer Questions) 

Answer both the questions from this section. 	2x6=12 

10. Explain any two of the following concepts : 

(a) Minimum Support Price (MSP) 

(b) Non Timber Forest Products (NTFPs) 

(c) Dairy farming 

11. Differentiate between any two of the following : 

(a) Working capital and Physical capital 

(b) Private capital and Social capital 

(c) Marketable surplus and Marketed surplus 
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